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e Please check that this question paper contains 15 printed pages.

e Code number given on the right hand side of the question paper
should be written on the title page of the answer-book by the
candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The
clluestion paper will be distributed at 10.15 a.m. From 10.15 a.m. to

0.30 a.m., the students will read the question paper only and will
not write any answer on the answer-book during this period.
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gl YTl % Fl & I fora 8 |

(ii) G4 797 3 & |
(iii) 379! YFT-37 37K G- & TH1 Fo71 & IR GIH-79% 417 &
STTYIR T fora? & |

(iv) T YFT-37 & @7 37 & a7 J971, Tid 375 @ g1 F971 3R 9rT-7
5 g1 37% 3 U J97 8§ 371N 997 1597 T & |
(V) -3 3 T gEgT 1 @2 Th-UF 3% & J97 & | 399 I U

375G ST G &7 H &1 |

(Vi) YFT-37 % 397 G&IT3 @ 5 §1-31 3P & ¥ & | §7% I AT
30 5T G378/

(Vii) YFT-37 & 97 G&I7 6 G 15 -7 3% & F97 8 | 37 I
TS50 91551 937 8 [

(Viii) YT7-37 % 397 G&T 16 @ 21 9ia-9id 3791 & 597 & | 599 I
ST 70 5] G 57 &

(ix) Y7T-§ & ¥o7 &7 22 & 27 JINHE BT T TERT G-
371 & T97 8 | 579 IR A1GTT F 57 & /|

General Instructions :

(i)  The question paper comprises two Sections, A and B. You are
to attempt both the sections.

(i1) All questions are compulsory.

(iii) All questions of Section A and Section B are to be attempted
separately.

(iv) There is an internal choice in three questions of three marks
each, two questions of five marks each in Section A and in
one question of two marks in Section B.

31(B) 2
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(v)  Question numbers 1 and 2 in Section A are one mark
questions. They are to be answered in one word or in one
sentence.

(vi) Question numbers 3 to 5 in Section A are two marks
questions. These are to be answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three marks
questions. These are to be answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five marks
questions. These are to be answered in about 70 words each.

(ix) Question numbers 22 to 27 in Section B are based on
practical skills. Each question is a two marks question. These
are to be answered in brief.

T —-A
SECTION - A

1. 3% ufteger o1 am fofa feeh ror st § ar feafedrd wdia g
g 1
Name the phenomenon responsible for the twinkling of stars in
the sky.

2. Toreht T=aferamh i STTeRTT el Shi STUe T W Tdd BT 7 1

Why does the sky appear dark instead of blue to an astronaut ?

3. for Aifient =1 (1) Teohd, (i) Uesh 3T (iii) Ueehls hal ST & 7
CH psTHE IR ? 2

Which compounds are called (i) alkanes, (i1) alkenes and
(111) alkynes ? Which of them is C4Hy ?

31(B) 3 [P.T.O.
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4. Tt Tifiha fuger o i S 3= @ & faw g4 arelt
iR SAfirferan ot A ferfRa | 3 frogedi @ S99 o &9 4 3w 89
et a1 I feafgu | Sfemerdt $uA1 & TH W AiERT Sl 6
IO S h Q AT Shi T ST | 2

Name the nuclear reaction by which nuclear energy is generated
in a nuclear reactor. Write the name of the element which is
used as a fuel in these reactors. List two advantages of using
nuclear energy in place of fossil fuels.

5. STIHTSIh AT 7 TR SId TR0l H 39eh! Y{HehT I Iooi@ hiferg | 2

What are decomposers ? State their role in our biotic
environment.

6. 3 vad qseL 1 A ferfgn, & ym=r: weniel i goem 3R @
M o T oA o et Srar 8 | 39 UIsel & ¢ Jeeeh i gl
FAT3T 3TN Yo 1 1Y fIRIT | $H HISST 1 TH FohT S T EH ATeft
TETeh JATTshaT o1 Tefiehtor ot ST | 3

CREN
ToRETH STt 91T & 7 3 ¢ aravll oh1 419 Ud 93 fotfae fam foheeem
et Bl 2 |

Write the name of the white powder generally added to besan to
make soft and crisp pakoras. List two ingredients of this powder
and write function of each. Also give the equation for the
chemical reaction that takes place when this powder is heated.

OR

What is water of crystallization ? Name and give formula of
two salts which contain water of crystallization.

31(B) 4
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7. T Afieni S AuSITdr Soft R et & 7 35k o tfiersn fefE |
FO ¥ g Frfofad A F ¥ = Q) A A 9h S o
ST Syoft & & —
C,H,, C,H,, C,Hg, C3Hy, C4Hs, CgHg 3
What is a homologous series of carbon compounds ? Write its
two characteristics. Giving reason select two compounds from

the following which belong to the same homologous series :
C,H,, C,Hy, CoHg, C3Hy, C4Hs, CgHg

8. 3Myfe Amad arefl o Fi= fou e ute awi W o= fifse : (Jes
T <hl THTY] HEAT Shiveh 1 &l TR B 1)
P(4), Q(9), R(14), S(19), T(20)
Jieh ST SHIUT ¢d §U =l ST 7T T oh IR GINIT -
(1) S8 A S A S ad GUH AT o & 7
(i) THA BT A G I T TG H @ 7
(iii) frE T o STRIqH IS | A1 SoiFeq & ¢ SH a0 & aol1se hl
o et | 3

Consider the following five elements of the modern periodic

table (atomic number of each is given in the parenthesis) :

P(4), Q(9), R(14), S(19), T(20)

Giving reason answer the following questions :

(1) Which two elements belong to the same period ?

(11) Which two elements belong to the same group ?

(111) Which element has seven electrons in its outermost shell ?
Write the formula of its halide.

31(B) 5 [P.T.O.
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9. (i) -G URETFTE ? IR Teh TG TeIeIT fThia |
(ii) 31@ (YPRIEE) Uiy g wfaa gHH 1 9 foifgy 3t 3ueh
T T T Ieoig hHITTT |
(iii) STATEMYERT a0 T FHAR ek STia H 991 A5 & 7 3
AYC1
Fia 3R ufefig dtent o foee e s & ? g aber aa &
fafir=T st <6t e form PR BT 8 2
(1) What are endocrine glands ? Write one main feature of it.
(1) Name the hormone secreted by thyroid glands and state its
main functions.
(111) What 1s the importance of iodized salt in our daily life ?
OR

What constitutes the central and peripheral nervous systems ?
How are various parts of central nervous system protected ?

10. gredl | qER{—e gua9- fhe Jspr aar g ? 3

How does chemical co-ordination occur in plants ?

11. STfd 3gWeH T & 7 39 IRET o 7T ITERT IR Rl hl A
EEIENS 3
31
Sfrerew = 8 7 Sferedt s smy-futtor A fondi o faftrn o dem |
Ui HITT |

What is speciation ? List four factors responsible for this
phenomenon.

OR
What are fossils ? Write in brief any two methods of
determining the age of fossils.

31(B) 6
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12. fereht safer st 3199 gfS g9 o Gied & fofe +2.0 D awan & ot <l
SATIIIhT BT 2 |

(a) % =Afom 8 e qiw | fifed g 391 M fReT | sm S+
SR fAfET |

(b) HY < I T 3 BIhd g 7 ? 3

A person needs a lenses of power +2.0 D for the correction of

his vision.

(a) Name the defect of vision the person is suffering from.
Write two causes of this defect.

(b) What is the nature and focal length of the corrective lenses ?

13. forega wirex o1 TagTa Tl 37 38 faver gt shi e & oo
HIfTT | TR diet & SR Hd THT B Gl Holl I BT GUH

SHifT | 3

State the principle of an electric motor and write the role of

split rings in it. Write the energy transformations that takes

place when an electric motor works.

14, g g1 o foTu fopeht foramenaid o1 vl <hifse, “orer fereft poeett @
T i gt & whad g 3, @ 3e e ara ia @
2 | 3
Describe an activity to show that “an electric current is induced

in a coil when magnetic field around it is changed”.

31(B) 7 [P.T.O.
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15. Torgft mifa o et Toria STafsl = 81 M W Hell STt A=
THA U | I8 TG T T S hehe o Irad (ISR hi hig SHTEAT el
off | TTH-v=mrd ot 399 <k TTT 371 <At shers © faIfoa off | o1a: W fq
T 3 39 GOET % FA I GioH & foIU Toihia AR 8 Traeh
oRaT | 38 JTTURY o TRl W T e 3 Afeeh €9 € Teh a1 -
E TR ST 3R T B I W G 6 S I HHEE e L ol |
(a) SRN-TE % JHE 38-37994 1 91 ferfau |
(b) el e SfaryH-ged ot gt SR - & < et <t g

EEIELS
(c) e % TU g Yef¥id g geui <ht F=ft sA13T | 3

The natives of a village were perturbed with the local waste
littered everywhere. There was no provision for the proper
disposal of domestic waste in the village. The village-panchayat
was also worried about the cutting of trees for fuels. So,
Sarpanch of the village one day approached a Government
Officer to seek a solution of the problem. On the officer’s
advice the villagers collectively built a biogas plant and solved
two major problems of the village in one stroke.

(a) Name the major fuel component of biogas.

(b) List the two advantages of using biogas over wood or fossil
fuels.

(c) List two values depicted by the village sarpanch.

16. Toeemuq srfufsran 3R fefoeemum srfyfran & = 3w 8 7 39 <1
TR <kl STITShATSTT o Sl-2l T80T difaY | 5

What is the difference between displacement reaction and
double displacement reaction ? Give two examples each of
these reactions.

31(B) 8
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17. (i) & wifaes Toremt a (ii) o TR oremt o YR W aTge
3R 1UTg3 % & faded i | 5
YT

(1) &I HAYIg ‘P’ A 91Y H1 T T JIId 7, b (Fe) H
Iufeafd o gggioM o @19 1 @ 3 o AJUTd § T Y 9TH W 15
T QA g |

(2) I 3reTq ATl o T ik HIg Afearss ‘R’ a9 2 |

(3) afe & 3@ (R) i 91y i Iufefd § a1 § arfaa L al
I hIg A S 41T B SN fob Uh Teed Miaiehieh (IU=Ieh) <h
Wifd TR a1 2 |
(a) P, Q, R 3R S =l Ug=THT 37 3794 I i gf¥ & fotw g

et rfirfsranatt & wfietor i |

(b) 3T9Tg ‘P’ MY TTad GRUM % fohE TTad AR TE H & ?

Distinguish between metals and non-metals on the basis of

(1) two physical properties and (i1) three chemical properties.
OR
(1) A non-metal ‘P> which is the largest constituent of air,
when heated with hydrogen in 1:3 ratio in the presence of
catalyst (Fe) gives a gas Q.
(2) On heating P with oxygen an oxide R is formed.
(3) If this oxide (R) 1s passed into water in the presence of air,
an acid S 1s formed which acts as a strong oxidizing agent.
(a) Identify P, Q, R and S, and give chemical equations of
the reactions involved to justify your answer.
(b) To which group and period of modern periodic table
does this non-metal P belong ?

31(B) 9 [P.T.O.
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18. (a) <1 & ST FehTel I W o foral i T AT 8 7
(b) TS | o fereft Ty Tig <t ufvt W ooEef o & Wi, w®
g YT T T qeh STid ST T ? 379+ I <hi g Hifu |
(c) 9f¢ =g qiar feq & CO, STex fevred w1 8 au1 O, @ Wi &,
T gHehT 312 g B3N T 30 MY A JehI91-T3ivol & B @I 7 ?
3T 3T T HRYT FeIfam | 5

(a) Why do fishes die when taken out of water ?
(b) Leaves of a healthy potted plant were coated with Vaseline.
Will this plant remain healthy for long ? Give reason to

justify your answer.
(c) If a plant is releasing CO, and taking in O, during the day,

does it mean that there is no photosynthesis occurring ?
Give reason for your answer.

19. O & T SHA a # feferiaa v <t firest gaw 1 foiRaw - 5
(i) 9o
(i1) PR
(iii) shaTlEHT
(iv) o AT
(v) re T
Describe in brief the role of the following parts in human male
reproductive system :
(1) Testis
(i1) Seminal vesicle
(111) Vas deferens

(iv) Urethra
(v) Prostate glands

31(B) 10
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20. (a) e oF ®1TE ? 37 & ThR - A & ? ThEl Meia oF
o I Teu U W <67 31 BRY § Ty hif
(1) 9= 3"
(i) SRR g
(iil) gReh
(b) IS SeTell el SR I3 T&l Teh g8 H 60 cm gl W@ & |
e fore) Ml &9 1 39 TH1 o Sk 489 § T4 8, dl e W
HIHeI! shi STAT 3T TIT TS JTH JIAT 8 | T ohl Fehid 3R
hIshE Gl T g ? S aITet Thifersl 3t bl 3T HIES 1 Iocig
t I | 5
AT
(a) el guun & gy # frferiaa ugh <t uftum fafe
(i) 99
(i) skl g
(iif) 7= 31
(iv) ®IehE gl
(b) 4 cm TTSS &1 1 fora 10 cmqﬁwaﬁ%wa’q‘m%w
15cm gl W @ g | 57 a1 wfdfers & oo & gt 31k
Sicrfsresl <1 HTgST T ST |

(a) What are spherical lenses ? What are two types of these
lenses ? Explain in brief the meanings of the following
terms :

(1) Principal axis
(i1) Optical centre
(i11) Aperture

31(B) 11 [P.T.O.
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(b) A burning candle and a screen are placed 60 cm apart.
When a spherical lens is placed exactly in the middle of the
two, a distinct image of the flame is obtained on the screen.
What is the nature and focal length of the lens ? Also state
the nature and size of the image formed.

OR
(a) In the context of spherical mirrors, define the following
terms :
(1) Pole

(i1) Centre of curvature
(i11) Principal axis
(iv) Focal length

(b) An object of size 4 cm is placed at a distance of 15 cm in
front of a concave mirror of focal length 10 cm. Find the
distance of the image from the mirror and size of the image
formed.

21. (a) Ry, R, 3R Ry UfcRi4 o oH Siaigehi o J0ft TASH 6 qod
i o foTu =3Teh SIea— HIfT |
(b) 3A, 5A 3R TA JIHAH & W UG 7 | 220 V i forga
ATgd W 1 kW e 6t foreft ferega seadt o6t wafera s = fotg
T O HH 91 RS o 9P &M 7 I IR I gfE HRO
Hfgd T | 5

(a) Derive an expression for the equivalent resistance of three

resistors of resistance R, R, and R; connected in series.

(b) Three fuse of rating 3A, 5A and 7A are available. Which
one of these will be most suitable to operate an electric iron
of 1 kW power at 220 V electric line ? Give reason to
justify your answer.

31(B) 12
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SECTION-B

22. % B T pH TR &I foem A § 3R gt pH YR #! foere B #
a8 3T I8 J&101 Kt ? T foea A o pH U w1 7 et 37
faem B ® pH YR TG U1 1 8 ST § | 3 gl faerREl Wi
T | foretam A 3T B % pH A ST ShIfT | 2

A student dips one pH paper in solution A and another pH
paper in solution B and observes that the pH paper turns blue in
solution A and orange in solution B respectively. Identify
solution A and B. Find the value of pH of solutions A and B.

23. S9 39 fohell W@ § HITSIH FIEGSH HIEi-C HI U1 Toht I
FO T VHifeh 3Tt I Sleld &, 9 91 BT & 7 Fhedl g Jeqon <hi
T FA13T | SHH THohet aTett 19 I A1 3T 39eh! wleor fafee | 2

What happens when you add few drops of acetic acid to a test

tube containing powder of sodium hydrogen carbonate ? List
two observations. Write the name of the gas evolved and the
method of its testing.

24, T T 0T i o ToT0 Uil o feseteh ohl SRR STEW dIR &
T T g0 Forata 3R (A T SUET hd B | S a1 ga i 59
TehUT H [T 1 Ieord hil | 2

In the experiment of preparing a temporary mount of a leaf peel
to observe stomata, we use glycerine and safranin. State the role
of the two liquids in this case.

31(B) 13 [P.T.O.
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25. 39 9 1 YR faafgu fed verer Sfig 9 < gafa ue gt @ 3R

ek oh1 3ATEIca AT &1 ST & | 35 S Tishal o 999 3T 3fa|
TAUT 1 G&AY § IJooig <hIfT | 2

Name the type of reproduction in which two individuals are
formed from a single parent and the identity of the parent is
lost. Write in brief about the first and the final stage of the

process of this reproduction.

26. Torelt T S BT b TG A T ATell T TR 1 9y SfEd
HET g | 3T INUMH ITH i o ol 35eh g ot IH arefl IR
LT shl T SHEY | 2

Yl

319k 918 12 cm BId gl 1 15 30 ©iF & | 39 36 o1F o A1
T 318 T T % Teh 3R 60 cm Gl T Hme 3 SaTel W § 37
I8 o gal S RIS vel Td € | 39 et § U qu s aret weiferes %
& srfieren fafa | o afg s SaTen B T SR TR W
ST %1 o W gl 15 cm €, 1 96 W &4 d1et Tfdfersl < 39 Q1
Frfirereront # S uiterd fe@ od &, 3 fafae |

A student has to trace the path of a ray of light through a glass

slab. List four precautions he should observe for better results.

OR
31(B) 14
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You have a convex lens of focal length 12 cm. You place a
candle flame on its principal axis at a distance of 60 cm from
the lens on its one side and place a screen on its other side.
Write two characteristics of the image formed on the screen. If
you now shift the candle flame towards the lens so that its
distance from the lens becomes 15 cm, then state the changes
that are observed in these two characteristics of the image
formed.

27. Toreft firefiurfiex &1 9fEr 0-500 mA 8 | 38 30 T 0 3T 100 mA
& Taral o ol 20 YW1 8 | T hid U his ST I8 Y&I01 HidT & T
UHTER 3T Hehaeh, ot ol & T, I o T=I& oh ST TTER TR T
2 AT Fofl I¢ B T 300 mA & M 159 JMHA W | Wi
(i) STeaanTe, (i) 3fad fos afea s Ffe T (iii) seb & <t =i
R ST AT 1A iU | 2

The range of a milliammeter i1s 0-500 mA. There are 20
divisions between 0 and 100 mA mark on its scale. During an

experiment a student observes ammeter’s pointer at 3™
graduation mark after zero mark when the key is off and the
pointer at 15" graduation mark after 300 mA mark when the
key is inserted into the plug. Find (i) the least count, (i1) the
zero error with proper sign and (ii1) the value of current drawn
from the battery.

31(B) 15
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